g -

YA

1.

E AL Rl
R e -2

I 9, figeT 2024-25

IENfARIT AFeos UfSET YSIURI HEpa SRdl:

frfafad argeds Bl geax T Y Yol & Sk G¥fgd | QIfomg:

Read the following passage and answer the given questions in Sanskrit.

HfA: M9:, arg:, YA, MM dead fAfercan srHTe waieRv dRadl e
e a1 SudrT | A F = sme SyBRON UHfQ: Argepra
IJEM: A O Wd: IRAD Sl @~ | AT Yfharar
AT wieRvR Hed fée ol vaefaRad wrawgddr: RRAG g R
WA, J=AATET: FaTed AR RATA: iRl

Ty Sead|

TP s A IR ATl

Answer in one word :

1 QA SudT FreefA denf?

2 o HeEd! & §ar?

UiTRA SR

gul qrar H SR Gl

Answer in a complete sentence

1 S gty & FRdl

2 BRI ATHAT P IJUGRVN eFenf?

M ye fadpeawr: Ifaad Sk fawr forad :
fag Ty fadedt # ¥ Sfyd IR g forfay

Choose and write the appropriate answer from the given options :

P, A 3 Uewy Wiy ug fh?
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Describe the following picture in five sansknit sentences with the help of the werds
given in the box below :
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Applied Grammar

3 srENfoRadaray XEifdauey af afess a1 g forad

o foaifaa aredl & Y@ifdd ual d |f srerar gfu-fawss ava ffay

i SRICERCE RCIRSIET

i S+ g9 die el
T 2 . o s e | S P e v
v 3 M+ 3R |

, TR arRy YeEdauer TR fOUE a1 vee fad:

focar forgd

ferforRad arey # “aiferd ual &1 gHr rrar faue fQu v famedt

¥ gax fofay

Choose and write the correct compounded or expounded forms of the underlined words in the
following

sentences :

G s ) G RSB |

i P WE 2 BT AR 3 B gl

g gy ufdd o I9eq |

VIR i 1 I s . R WO i S [ |
T W Y 9EE graf =

1 ArFEITH 2 HIMTAHVH 3 HHIH
ERREN ¥ LA 4 FALLMAYIA N SR L LM

g UGV 3 3K

1 @M+ U 2 AT 3 U T T

T G G B | I BT

1 UM O I | 2 ¥ (I IR §: 3 QU T f: U: :



7 e TRy XETfhaueH YRl gl Haed favsa
S fadwer: faar forad -
fferRaa araat 3 Yw@ifed el & ygpfaucdl & Srsax A1 g,
TP I SR fAdbedt #§ F gaax forfay

Write the underlined words of the following sentences after joining or disjoining suffices to the roots
words, selecting the correct answer from the options given below :

& A A7 B+ W dTADI TR

1 disdr 2 @ied: 3 dlsdnd

W Y AU HARAT ARl
1 W + 2 2 WU +de 3 I + S04
RLS 3 1| RS S L T A LSS G S
1 U+ 34 + 3T 2 93d + AT\ 3 WIS + RATHY
q IET: ISl + <Y Qi 7Rl
1 gell  23gell 3 gl
. ded Agd A Jedl
1 dedl +d 2 g + @ 3®g +
Jrefeadaraly Red I A9urd yewi: Sfd: reue:
R falad
fr=feRaa arerlt 7 Racerm=! &1 gfd A9 F Ry v 3Ifa
P ERI BT

Fill in the blanks in the following sentences with appropriate indeclinable words
given in the box

Choose the correct numerical words and complete the sentences :

1 ¥ — AT gfxal Lgreem:, gew, greonfA

2 W ufdl [uEre, ager, @R |
3 TR v 3 ufdsd: aufael [ud-uaee, vl
VR TN gaea:| I8), g, gl

5 A9 I B <l [ acarRerq, g, acarfeern: I



